
 

© Copyright Utemaster NZ Ltd.  1 

Australia Support: 
P: 1800 769 577 
E: sales@utemaster.com.au 
W: www.utemaster.com.au 

NZ Support: 
P: 0800 683 352 
E: sales@utemaster.co.nz 
W: www.utemaster.co.nz 

CANTILEVER RACK 
TO SUIT CENTURION CANOPY 

Despatch List: 
ID# DESCRIPTION IMAGE QTY 

1 PRT-005253  2 

2 PRT-005254  2 

3 PRT-003136  2 

4 PRT-005026 (foam)  6 

Fitting Time: 

30 minutes 

ID# DESCRIPTION IMAGE QTY 

5 M8 Fender Washer  8 

6 M8 Spring Washer  4 

7 M8 x 30mm Btn Bolt  6 

8 
M8 Nyloc Nut (Stainless) 

NUTM8NA2   2 

9 
M8 Medium Washer 

Used on Ford Ranger only  2 

1 

NOTE: the canopy 
may have blanking 
bolts in these holes.  
Remove these bolts 
before proceeding 
with the installation.  

 
 

Place the sponge  
washers over the holes 

in the canopy roof.  
Ensure the holes in 

the sponge washers 
align with the holes 
in the canopy roof.  

 
1) PRT-005253  (2x) 
2) PRT-005254  (2x) 

 
 

Repeat for both sides. 

2 

1 

2 person lift 
required 



 

© Copyright Utemaster NZ Ltd.  2 

Australia Support: 
P: 1800 769 577 
E: sales@utemaster.com.au 
W: www.utemaster.com.au 

NZ Support: 
P: 0800 683 352 
E: sales@utemaster.co.nz 
W: www.utemaster.co.nz 

3 

Bolt both rear corners 
using the following 

fasteners: 
 

3) PRT-003136 
4) PRT-005026 (foam) 
5) M8 Fender Washer 
6) M8 Spring Washer 

7) M8 x 30mm Btn Bolt 
 

Leave loose at this 
stage.  

2 

Fit cantilever onto  
the canopy roof. 

 
Align rear bolt holes 
to the foam washers.  

4 

Bolt both front corners 
using the following 

fasteners: 
 

4) PRT-005026 (foam) 
5) M8 Fender Washer 

*Ford Ranger uses (9) 
7) M8 x 30mm Btn Bolt 

8) M8 Nyloc Nut 
 

Leave loose at this 
stage.  

3 

See Step 1 

5 

Once all bolts are loosely in place, ensure the cantilever rack is sitting centred and straight.  
Tighten all fasteners. 

Check that foam between Cantilever Rack and Canopy roof is compressed to complete  
watertight seal.  

See Step 1 

5 

8 

2 person lift 
required 

4 

5 

6 

7 

Cantilever 

Canopy roof 
Inside 

canopy 

4 

5 (or 9*) 

7 

Canopy roof 

Cantilever 

Inside 
canopy 


